FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

mE il R T WS P T i3
JuEEs) 33 | e 10 BE TR 393 B

JuERt 388 | YR R 10 9 THEHE395 1B
JuiERt 388 | Yd 10 9 TREEET391 B

JuEERT 3 | B 10 B TR 380 B

JeEERt 3 | YA R 10V 25K RIS A 1 25K
Juist 3 | e % 10 3 5E TOREETI8S A 15 B
JuiEst 38 | )Yd Y 10 5 5F TR 305 3 B
JuERt 38 | YR Y10 6 5 TEEE8S 1 8 Uk
JuEEA] 3 | e 11 B TOHEHE395 # 23 B
JuERt 388 | YR R 12 9K TR 395 26 B
JeREErt 3 | )@ R 12 5F TREET395 A 19 B
JuEERT 3 | R 12 9 TOREE305 A 21 B
JuEEA] 3| B 12 B THEHE395 # 20 B
JuiEff 3[R R 12 18 TOREETI8S A 16 B
JeEERT 3 | YR 12 25K R385 A 18 B
JuERt 38 | Yd 12 35 SRR 385 A 20 B
JuEEA] 3| e 13 B THEHE395 # 7 B
JeEERT 33 | @ B 13 9F TR G407 B

JuiERt 358 | TYd 13 9K TR 399 B

JuEERT 3 | B 13 B TEEE409 B




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

R | AR T e
Jusht 42 [Jorw 149 B H305 H 25 B
Jusht 42 [Jokw 149 TEHEALS B
Juskt 42 1ok 149 gAY B
et 4 5 | e g 14 BE TIRE 425 B
Jusht 42 [Jorw 149 T EEALS B
JuiRt 4% | e v 14 V1B G HE395 # 28 B
Juigest 438 ek 14 75K Tt 501 B
Juskt 42 (114 gnE S B
Juskt 42 [ 14 o TEHES1O 16 B
Juseht 42 [Jow 159 T EHESIS B
Juskt 42 [1ow 159 T RES33 B
Justaht 48 | ok % 17 9 T EHEST] V1B
Juskt 42 [ 1ok e 109 g 207 1 1 B
Juskt 42 [ 1ok e 109 (758 297 B
Juikt 4% |k %19 V1B (i85 053 4 72 B
Jusmht 428 (1ot 100 08 (58 053 H 70 B
JosRt 48 | e 719 V3 B (58 253 % 68 B
JeitRt 43 | e 9019 V4 B (8 253 % 66 B
Juikt 4% |1k %19 V6B (2% 253 4 60 B
el 42 |Jem %19 V78K [ % 053 58 B




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

R | mesmgs s AR L T e
Juskt 428 1o 100 88 (58 253 % 56 B
Jusiaht 4% | v v 21 9 T EHT6S8 B

Jusiaht 48 | e v 21 9 T RIE669 B

e 4 | e g0 22 B TI1EE6T70 B

Juskt 42 [ 1o 29 (5% 381 % 50 B
Jusiaht 48 | v v 22 9 B HT668 B

Jusekt 42 [1orwn L 38 (i 381 # 65 B
Jusieht 824 1B 2 6% P00 4 238 % 38
Juifef 83 | Wk B 2 TR IV EE209 4 238% 29 9
Juiest 83 | w2 8 BK Y5209 4 158 5
JeiEft 8 M [Tk B2 9B 200 H 038 5 1B
Juigesf 88 | ek w2 10 5K IYHIEE209 4 2389[ 35 9K
JuiEst 8 | Juk R 2V 119K IS EE209 4 238 §[ 37 9
Juiest 8 | Juk R 2V 129K 7%&!@?209%\2383[ 83 B
Joitsht 83 | w3 1B Y3539 B

Jusight 824 o R 3 29k 3 55T B

Joiteht 8 M | 1ok 3 v 30K Y3556 B

Juskt 8 1w m 3 su i 561 B

Judimhf 83 1ok %3 8 bk FYUES2T 4 88 % 35 K
Jusight 82 1o B 3 o8k TS24 88 % 66 1 3




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

gzl R T WS P T i3
JoFER 83 | ek B3 108K 527 # 88 5 66 1V 5 B
JulER] 83 | ek B3 11 8F 52T 4 88 % 66V 6 5%
JuiEst 8 A | YA R 3 125K TYHIEES2T 88 F 56 U
Juifht g8 | e P 3 139K FYLEES2T H 88 F 66 8 B
JoFER 83 | ek B4 1BE 527 # 90 % 18 B
JoEERT 83 | ek B4 28K TYHLEES27 155 B

JuEERf 8 |k RS B VIR 5 B

JurER] 838 | ek RS 1K T8I 3 B

JoFER 83 | ek RS 28K JEE=THIEE 236 B

JoFERT 83 | ek B 5 38K YIRS 218 B

JuieRt 8 A | RS S BE VIIER12 4 8 B

JurERt 838 |k RS 65K TYHIEE81S B

JoFER 83 | ek RS THE Y820 B

JoEERT 83 | ek R 6 18K Y813 A 100 B

JuiEEA] 26 B |V B 23 B R 4714 26 5 6
g 26 2 |k Bl 24 B R 4TLH 215 3V 15K
BT 26 3 | ok B 24 1 BE TEE 4714 21 % 3 25K
JuFET 26 M | ek 24 1 2 B AL RE 471 H 68 B

JuiEt 26 38 | ) By 25 B B EE 4714 21 5 1S BE
B 26 2 |k Bl 26 B B 4714 21 5 29 B




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

el R T WS P T i3
AT 26 38 | ek B 27 B [ EE 4714 21 F 39K
JEERT 26 3 | ek B 2T 1 BE {1 559 4 36 B
JuEERT 26 3 | ok B 28 1 BE {1 559 4 32 B
JuEERT 26 3 | ok B 28 1 2 B At B 619 A 28 B
BT 20 3 | ok B39 2 B i 5% 670 BF
JFERT 20 3 | ok B39 5 BE {7 1% 633 4 56 B
JuEERT 20 3 | ek B39 6 BF Bt 673 4 123 B
ke 20 3 | Tk B 40 B Bt 2 662 A 96 B
JFERT 20 3 | ok B 40 1 BE At B 662 A 92 B
JuRERT 20 3 | ok B 41 9 [t 1% 662 4 136 B
JuEERT 20 BB | WA 4l 1 BE AT 662 4 138 B
JuRERT 20 3 | ek B 41 L 2 8K Bt 2 662 A 128 B
AT 20 3 | ek B 42 B [t 1% 662 4 150 B
JuRERT 20 3 |k B 42 B [t 1% 662 4 152 B
e 20 3 | ek B 42 B Bt 1 662 A 156 B
e 20 | Tk B 42 B Bt 2 662 A 158 B
AT 20 3 | ek B 42 B [t 1% 662 4 160 B
JuRERT 20 2 |k B 42 B [t 1% 662 4 162 B
e 20 3 | ek B 42 B {1 662 # 166 B
e 20 | Tk B 42 B Bt 2 662 A 168 BE




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

Rl

%ﬁr' I;I& égﬁf }—EF

Tr' e eaiic:]

oS 20 2

TR 42 B

[E 2 662 H 169 B

et 30

ek Y 43 B

FITSRE ot 129 44 176 5F

JuiERt 30

Jude g 43 V1

FI g o 129 4 166 5F

J e 30 A

TR 43V 2B

FI e | ol 120 4 177 B

e 30

U433V S

I e ] oEES 129 4 175 %[ 1 Bk

et 30

TR 43 V6 5K

FIESPRE uigefd 129 4 175 5 53 39K

JuiERt 30

TR 43 VT B

I TS ] oHEES 129 4 175 %7 S B

e 30 A

TR A3V 8K

I St ] oFEES 129 4 175 %‘[ 79

e 30

U439

I e ] oEES 129 4 175 %[ 0 B

et 30

TR g 43 1 10 BE

FIERE uigefd 129 44 175 = [115"}“?

JuiERt 30

Jude gy 43 11 BF

I TS ] oFEES 129 4 175 %[ 13 Bk

e 30 A

YRR A3 V125K

I ISt ] SRS 129 4 175 %[ 15 8

e 30

JERA3 T 135K

I S ] RS 129 4 175 %[ 17 9%

JerEET 30

TR g 43 1 14 5F

Fl e eiel 129 # 175 jjf[ 19 5f

JesEkt 30 2

T g 43 1 159K

I TS ] oFEES 129 4 175 %[ 21 BF

e 30 A

JUR R 43 V16 9

I ISt ] SRS 129 4 175 %[ 20 9

e 30

Jud gy 43 V17 8

Fl e e 129 # 175 §[ 20 B

et 30

TR g 43 1 18 BE

FIESPRE uigefd 129 4 175 5 §l 18 B

JuiRt 30

T g 43 1 19 BE

I TS ] oFEES 129 4 175 %[ 16 BF

Juisht 30 2

TR B 43 V20 B

Fl s vl 129 # 175 5 7 12 il




FeFl Rk e

2 FCE AT S R &

drcp o AEI03EGY 30 p

Rl

%ﬁr' I;I& égﬁf }—EF

Tr' e eaiic:]

e 30 #

Jud gy 43 V21 B

FI TSP EE ] e 129 4 168 R

et 30

TR g 43 1 22 BF

FITSPRE ] ciEFe 129 4 169 5

JuiERt 30

T g 43 1 23 BF

Fl TS ] oFEES 129 4 175 %[ 8 B

J e 30 A

TR R 43 V24 B

I St ) oFEES 120 4 176 1 1 8

e 30

TR A3 25 B

FIERE uigefd 129 44 176 1V 2 5K

et 30

TR B 43 26 5K

FITSERE ] B 129 44 176 1 3 5%

JuiERt 30

Jure gy 43 27 BE

Fl TSt ] oFEES 120 4 176 1 4 5

e 30 A

TRk B 43 V28 B

FI R et 129 4 176 IV 5 5%

e 30

TR A3 29 B

FIERE Juigefd 129 44 176 IV 6 9K

et 30

TR g 43 17 30 BE

FITSERE ] e 129 44 176 1 7 5%

JuiERt 30

Jure gy 43 31 BE

Fl TSt ) oFEES 120 4 176 1 8 B

e 30 A

TR R 43 V32 B

I S ) oFEES 120 4 176 1 9 B

e 30

TR 43 335K

pI SR JueEs 120 4 176 7 10 BF

JerEET 30

TR g 43 1 34 5F

FIESRE Juigafd 129 44 176 7 11 5%

JesEkt 30 2

TR 43V 35 5K

FITSRE o 120 4 176 17 12 B

e 30 A

TR 43 36 B

pl S RE JufeEs 120 4 176 17 13 BF

e 30

Jud gy 43 IV 37 B

PSR JueEs 120 4 176 17 14 5F

et 30

T g 43 17 38 BE

FITSERE ] ol 129 44 176 7 15 5K

JuiRt 30

TR 43 V39 B

pl SR JufiEs 120 4 176 17 16 BF

Juisht 30 2

TR B 43 V40 BE

FI TR el 129 4 176 7 17 5%




Fe B A=

2 FCE AT S R &

drcp o AEI03EGY 30 p

gzl WO 8 LT WS B T Ui
ot 30 3 | ok B 44 9E [ ] i 129 4 135 % 28 B
JeEERT 30 B | VA R 44 V18R FITSE ] e 1290 4 01 B

TR 303 |10 R 44 1 3 0 [Pt ] S 129 4 135 % 38 9
R 30 34 | VA B 44 I S PR FI 228 | vl 129 #F 135 5 26 %
ot 30 3 | ok B 44 6 B R S 120 44 135 % 37 B
JudtERt 30 3 ok B 44 VT 9E TR S 120 4 135 % 35 B
TRt 303 | 10 45 L S U [Pt ] S 129 4 135 % 56 9
JuieE] 30 3 | Tk B 45 VS R A FIS#RE ] -EEFE 129 4 135 5 56 PR A4
ot 30 3 | ok B 45 5 B A [ ] v 129 44 135 5 56 B= 4
JudtErt 30 3 | ok e 45 1 S BEDAH Pl ] 8 129 4 135 %) 56 B) 4%
JoEERT 30 BB | Rk EE 45 S B AR [T o 120 41 135 %) 56 Y Ag
] 30 3 | Tk B 45 V5 R AE FIS#RE ] -EEFE 120 4 135 5 56 BFH A6
ot 30 3 | ok B 45 6 B FERE s 120 4 135 % 58 B
et 30 2 | Tk Yo 45 V6 R A [P EE iR 120 4 135 5 58 B A
ot 30 A | Tk P 45 1 6 B A [ e 120 44 135 %) 58 W= A6
Juifpt 30 28 |k B 45 1 6 BRI [l e 129 41 135 5 58 SR
JuifE] 30 BB | ok B0 45 6 R [T ] wiEES 120 4 135 5 58 B 48
JuiE] 30 BB | ok B 45 6 BE A [ISPEE - #EES 129 4 135 5 58 B+ 48]
et 30 3 | B B 45 1 T BE PR ) Bl 129 4 135 % 60 9
] 30 3 | Tk B 45 VT R AE [ IS#RE -8 129 4 135 5 60 DR A6




Fe B A=

2 FCE AT S R &

drcp o AEI03EGY 30 p

gzl G diideaili WS B T Ui
JuiEErt 30 3 | ok By 45 7 BE= A FI i 8 129 4 135 %) 60 3= 4
JudtEkt 30 % | ok e 45 1 7 BEDIH Pl ] 8 129 4 135 %) 60 3] 48
JoEERT 30 BB | TRk T 45 7 B AR [ o 120 4 135 %) 60 W Af
e 30 3 | Tk B 45 VT R AE [ ISRE ] -EEEE 129 4 135 5 60 DR+ 48]
JuiEEht 30 3 [ 1ok B 45 V8 B FTReRE ] 88 129 #1355 62 B
JuiE] 30 BB | ok B 45 I 8 BEC A [ISREE - #EES 129 4 135 5 62 9= 4]
ot 30 A | Tk Py 45 7 8 B AE [ o 120 4 135 %) 62 V= A6
JuifEt 30 28 |k Yy 45 8 BRDYAE [l e 129 4 135 5 62 B
JuifeEht 30 35 | ok B 45 1 8 BRI A ] wifeE 129 44 135 5 62 DR A
Juifekt 30 28 |k B 45 8 R AE [ISREE ] #BES 129 4 135 5 62 B+ 48]
TR 303 | 10 45 9 U [P ] S 129 4 135 % 66 9
| 30 3 | @k B 45 V9 R AE FIS#RE ] -EEEE 129 4 135 5 66 PR A4
Juitt 30 2 | ok B 45 O B AR [ ] i 129 44 135 % 66 B 4
JudtEht 30 % | ok e 45 1 9 BEDIH Pl ] 8 129 44 135 %) 66 B] 4
JoEERT 30 BB | Ak EE 45 9 B AR [ o 120 4 135 %) 66 Y A8
e 30 3 | Tk B 45 V9 SR AE [ IS#RE ] -EEEE 129 4 135 5 66 DR+ 48]
JuifeEht 30 5 | ok B 45 10 9 FTReRg ]88 129 4 135 % 68 B
JeaEsf 30 A | )@k By 45 10 PR A [P EE ] fER 129 4 135 5 68 B ]
JuiEt 30 A8 |k Py 45 10 R A [ o 120 4 135 %) 68 W= A6
JuifEt 30 28 | ]k By 45 10 BRI [E - #EES 129 4 135 5 68 BR]




Fe B A=

2 FCE AT S R &

drcp o AEI03EGY 30 p

gzl G diideaili WS B T Ui
JuiEt 30 2B | ok B0 45 10 B [ RS 120 44 135 5 68 B 48
Juifekt 30 28 |k By 45 10 R A [ISREE ] #BES 129 4 135 5 68 B+ 48]
TRt 30 3 | e E 45 11 5 PR ) Bl 129 4 135 3[ 70 B
JeiEf 30 3 | @k B 45 11 BEC A ISR ] -fEEE 129 4 135 5 70 B A
JuiEtt 30 28 | ok B 45 11 B A FITRRE ] 8RS 129 4 135 5 70 = A4
JudErt 30 3 | ok e 45 V11 BEDUA Pl ] 8 129 44 135 %) 70 B] 4
JeigEsf 30 #E | @ B 45 1 11 B AR [T o 120 44 135 5 70 W AE
JeigeEssf 30 #E | @ B 45 11 B A [l ] Rl 120 44 135 5 70 9 48
Juift 30 38 [ 1ok B 4S 129K FIPReRE ]88 129 #1355 72 9%
e 30 M | Tk Ry 45 12 BET A IS EE iR 129 4 135 5 72 B A
JeigEsf 30 #E | @ B 45 12 B A [ o 120 44 135 5 72 V= A6
JuEERT 30 5 |k B 45 12 BEDIAE PR s 129 44 135 55 72 BEDAE
JuiEt 30 BB | ok B0 45 12 B A [l ] RS 120 44 135 5 72 SR A6
Juifekt 30 28 |k B 45 V12 R A [ISREE - #BES 129 4 135 5 72 B+ 48]
JuiEf 30 2 | ok B 45 135K TR | S 120 #1135 5 76 B
JuifEf 30 3 | )@k By 45 13 BEC A FISRE ] S 120 4 135 5 76 B A
JuiEtt 30 28 | ok B 45 13 B A FITReRE ] <868 129 4 135 5 76 W= #4)
JudErt 30 3 | o4k e 45 V13 BEDUA Pl ] 8 129 44 135 5 76 B] 4
JuiER] 30 BB | ek B 45 V13 B A I8 ] i 129 4 135 5 76 BE A4
JuifE] 30 3 | )@k By 45 13 BE A [l Rl 120 44 135 5 76 9 48

10



Fe B A=

2 FCE AT S R &

drcp o AEI03EGY 30 p

gzl G diideaili WS B T 7
JuifeEht 30 35 | ok B 45 14 9K FTRg ] &S 129 4 135 % T8 B
et 30 3 | Tk Yo 45 14 BT A IS EE iR 129 4 135 5 78 BE At
JuEt 30 A8 | Tk By 45 14 B A [ o 120 44 135 ) 78 W= A
T 30 3 |k By 45 14 BRI [ Rl 120 44 135 5 78 SRPAE
JuEEht 30 35 [ ok B 45 14 B FITReRE ] <868 129 4 135 5 78 B A6
Juifekt 30 2 |k B 45 V14 SR 1R 129 4 135 % 78 B 8
TRt 30 3 | Jem g 45 155 PR ) Bl 129 4 135 3[ 80 9F
JuEERT 30 3 | ok B 45 V15 BEC A TR 129 4 135 % 80 B 44
JuEEht 30 35 ok B 45 V15 B A FITRRE ] <868 129 4 135 5 80 = 44
JudtErt 30 3 | o4k e 45 V15 BRDUA ] 129 4135 % 80 BRDAY
JuiE] 30 BB |k B 45 V15 B A I8 ] i 129 4 135 5 80 BE A4
JeigeEsf 30 #E | T B 45 15 B A [ IS#RE ] -EEES 120 4 135 5 80 B+ A
JuifeEht 30 35 | ok B 45 16 9K FTReRg ] -8 129 4 135 % 88 B
JeEERT 31 3 | ] B 45 PR FI T RS 129 4 69 B
JuiEtf 31 A [k B 45 V1B I e o 120 4 51 5
ol 31 48 | o By 45 2 BF Pl RS 129 4 53 bR

et 31 B | ) B 40 BE I S ] e 120 A 39 B

JeEERT 31 B | ) B 47 BE ) 129 4+ 15 BF
ot 31 3 | ek e 48 B I e ] s 120 4 11 51

et 3138 | e v 48 1 7 B [l SR S 129 H 37 BE




Fe Rk s

2 FCE AT S R &

drcp o AEI03EGY 30 p

L b AR B TR S
Judht 30 | Jok 7 67 9 168 B
Judth 30 | 1o % 67 1 2 9 158 B
JuERAT 32 | R 68 1 B N EEHET128 B
JuiE] 32 58 | YR R 68 1 2 5 N30 B

12



